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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
701630 50400 40568
2.
3.
4,
5.
5) 6)
6.
901630 70|1379 80560
7.
8.
9.
10.
8) 9)
11.
20[410 70[507 20[220
12.
11) 12)
80(784 501598 60360
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 9 2) 8 3) 14r8 9
70[630 50[400 20568 "
0 0 0 ) 8
63 40 56
0 0 40 s 14r8
630 400 168 ) .
630 400 160
0 0 8 5 5r29
4) 7 5) 5r29 6) 7 A v
90630 70[379 80[560
0 0 0 7. 20r10
63 37 56
0 0 0 e  7ri17
630 379 560 . 1
630 350 560
0 29 0 0. 9r64
7 20r10 8 7117 2 11 4 11148
20[410 70[507 20[220 |
0 0 0 12, 6
41 50 22
40 0 20
10 507 20
0 490 20
10 17 0
10) 9r64 11) 11r48 12) 6
80784 50[598 60[360
0 0 0
78 59 36
0 50 0
784 98 360
720 50 360
64 48 )
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C:h Vertical Division

Name:
Solve each problem. Answers
7rl7 8 5r29
9 20 r10 7 1
11 7 14 r8
2,
1) 2) 3)
701630 501400 40568 3
4.
5.
6.
7.
8.
4) 5) 6)
901630 70|1379 80|560 9.
7) 8) 9)
201410 70|1507 201220

M odified
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1-9 [89|78|67]56|44[33[22]11] 0 |




	Worksheet
	Answer Key
	Modified Worksheet

